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1 241 28                   4 �
�
2 238 26                   4 �
�
3 186 22                   4 �
�
4 199 22                   4 �
�
5 200 25                   4 �
�
6 173 22                   4 �
�
7 183 24                   4 �
�
8 172 19                   4 �
�
9 181 21                   4 �
�
10 187 22                   4 �
�
11 174 21                   4 �
�
12 195 25                   4 �
�
13 213 26                   4 �
�
14 188 22                   4 �
�
15 176 22                   4 �
�
16 170 20                   4 �
�

1�2�� 3.1  (1 �)

�3�����
� 2/	/. ��2/.� ���
�
 ����F�

2��7
���
�
����F�

�2/���	����.�/

17 161 22               4 �
�
18 179 22               4 �
�
19 183 28               4 �
�
20 185 29               4 �
�
21 201 25               4 �
�
22 192 27               4 �
�
23 191 40          6-10 �
�
24 285 32          6-10 �
�
25 292 38          6-10 �
�
26 276 37          6-10 �
�



33

27 264 44  7���� � 10 �
�
28 271 41  7���� � 10 �
�
29 238 40  7���� � 10 �
�
30 228 34  7���� � 10 �
�
31 215 51  7���� � 10 �
�
32 199 37  7���� � 10 �
�
33 217 37  7���� � 10 �
�
34 212 39  7���� � 10 �
�
35 233 37  7���� � 10 �
�
36 231 35  7���� � 10 �
�
37 230 39  7���� � 10 �
�
38 216 33  7���� � 10 �
�
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�2��7�����2@� ���X 7	����.�/�2/��� 4 �
� �2��7�
�	@� ������6� 1 ��X 7  @�
�.��X��8�	�
����5����X 7@�/5���515����X 7 (2��7
��X 7)

�X��8�	�����5����X 7  =   B ��r�
�	5��2��7
���
� @�/B ��r�
�	2/	/. ��2/.� ���
�
      =   23.63 ������ @�/  189.86 ����s�

5���515����X 7 (2��7
��X 7) =   B �2/	/. ������X��8�	�����5����X 75��47������
    ��X 71���
�7
B �7���
�4X�

:��0�&
1 ��2.�B �2/	/. ������X��8�	�����5����X 75��47�����
�7
B �2��7
���
��� ���� 28 
������ @�/2/	/. ��2/.� ���
��� ���� 241 ����s�

     = 2 2(28 23.63) (241 189.68)− + −

     =  51.32  ����s�

B3���D.�B �2/	/. ������X��8�	�����5����X 75��47�����X�1��   @�
������
B �7���
�4X�
��6�5���515����X 7 F���7
B ��� ���� 51.32 ������   .�����������3���2B3���D.�B �2/	/. ������X�
�8�	�����5����X 7 ���47�������2/����A��b�X�1�� �
�7
B ��
�	�� � 51.32 ����F� @4��� ���2@� �
��X 7��X 7�
���
�7 ��
    �����2B3���D 7
2/	/. ��5��47�������2/���7���� � 10 �
� 8 1���
�	
�� � 51.32 ����s� 1
���3���2@� ���X 7����7�����6� 2 ��X 7 ��	��
��2���47�����5
���X 7@���B7
� 
�������
� 2.9

0���2B3���D�/��
� �

     �X��8�	���������X 7�
� 1 =  (239,27)
     5���515����X 7 (2��7
) ��X 7�
� 1 = 2.23 ����s�

�7A��12��4�����47�������2/����A�� �7 7
47����1����7
2/	/. ������X��8�	�5����X 7
�
�	�� �.2A��� ����5���515����X 7
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      �X��8�	���������X 7�
� 2   =    (185,23)
      5���515����X 7 (2��7
) ��X 7�
� 2   =   28 ����s�

�7A��12��4�����47�������2/����A�� 7
47���� 1 1�� 7
2/	/. ������X��8�	�5����X 7�
�	
�� �5���515����X 7  �3���2@� ���X 7����7�r��/47����5
�78�����X 7�
� 2 BA�@� ���X 747������
��X 7�
� 2 �����6� 2 ��X 7 ��	��
��2���47�����5
���X 7@���B7
�   

0���2B3���D�/��
� �

     �X��8�	���������X 7�
� 1   =  (178,22)
      5���515����X 7 (2��7
) ��X 7�
� 1 = 17
�7A��12��4�����47�������2/����A�� �7 7
47����1����7
2/	/. ������X��8�	�5����X 7

�
�	�� �.2A��� ����5���515����X 7

      �X��8�	���������X 7�
� 2   =  (200,25)
      5���515����X 7 (2��7
) ��X 7�
� 2  = 13

�7A��12��4�����47�������2/����A�� 7
47���� 1 1�� 7
2/	/. ������X��8�	�5����X 7�
�	
�� �5���515����X 7   �3���2@� ���X 7����7�r��/5
�78�����X 7�
� 2  BA�@� ���X 747��������X 7�
� 2
�����6� 2 ��X 7 ��	��
��2���47�����5
���X 7@���B7
�

0���2B3���D�/��
� �

     �X��8�	���������X 7�
� 1 =  (195,24)
      5���515����X 7 (2��7
) ��X 7�
� 1 = 4.4

�7A��12��4�����47�������2/����A�� �7 7
47����1����7
2/	/. ������X��8�	�5����X 7
�
�	�� �.2A��� ����5���515����X 7

      �X��8�	���������X 7�
� 2 =  (204,25)
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      5���515����X 7 (2��7
) ��X 7�
� 2 = 9

�7A��12��4�����47�������2/����A�� �7 7
47����1����7
2/	/. ������X��8�	�5����X 7
�
�	�� �.2A��� ����5���515����X 7

1�2�� 3.2 42X�0���2@� ���X 75
�78�1
�@��5��	����.�/�2/��� 4 �
�

��X 7 5���515��2��7
��X 7(����s�) 13�@.� ��X��8�	�����5����X 7 (x,y)
1 2.23 (239,27)
2 17 (178,22)
3 4.4 (195,24)
4 9 (204,25)
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�X��8�	�����5����X 7 =   B ��r�
�	5��2��7
���
� @�/2/	/. ��2/.� ���
�
=   36 ������ @�/  286 ����s�

5���515����X 7 (2��7
��X 7)   =   B �2/	/. ������X��8�	�����5����X 7 5��47����
   ����X 71���
�7
B �7���
�4X�

                                            =   10 ����F�

�7A��12��4�����47�������2/����A�� �7 7
47����1����7
2/	/. ������X��8�	�5����X 7
�
�	�� �.2A��� ����5���515����X 7

1�2�� 3.3 42X�0���2@� ���X 75
�78�1
�@��5��	����.�/�2/��� 6-10 �
�

��X 7 5���515��2��7
��X 7(����s�) 13�@.� ��X��8�	�����5����X 7
1 10.0 (286,36)
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�2��7���@� ���X 7	����.�/�2/���  �
� �����6� 1 ��X 7  @�
�.��X��8�	�����5����X 7 
@�/5���515����X 7 (2��7
��X 7)

   �X��8�	�����5����X 7 =  B ��r�
�	5��2��7
���
� @�/2/	/. ��2/.� ���
�
     =  38.9 ������ @�/  230 ����s�

        5���515����X 7 (2��7
��X 7) =   B �2/	/. ������X��8�	�����5����X 75��47����
                                                        ����X 71���
�7
B �7���
�4X�
              =   38 ����F�

�7A��12��4�����47�������2/����A�� 7
47�����2/����A�� 5 1�� 7
2/	/. ������X��8�	�
5����X 7�
�	�� �5���515����X 7 �3���2@� ���X 7����7��6� 2 ��X 7 ��	��
��2���47�����5
���X 7
@���B7
�

0���2B3���D
        �X��8�	���������X 7�
� 1   =  (178,22)

       5���515����X 7 (2��7
) ��X 7�
� 1  = 17

�7A��12��4�����47�������2/����A�� �7 7
47����1����7
2/	/. ������X��8�	�5����X 7
�
�	�� �.2A��� ����5���515����X 7

        �X��8�	���������X 7�
� 2   =   (200,25)
        5���515����X 7 (2��7
) ��X 7�
� 2   =  13

�7A��12��4�����47�������2/����A�� 7
47���� 1 1�� 7
2/	/. ������X��8�	�5����X 7�
�	
�� �5���515����X 7 �3���2@� ���X 7����7�r��/5
�78�����X 7�
� 2 BA�@� ���X 747��������X 7�
� 2
�����6� 2 ��X 7 ��	��
��2���47�����5
���X 7@���B7
�

0���2B3���D

        �X��8�	���������X 7�
� 1   =  (195,24)
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        5���515����X 7 (2��7
) ��X 7�
� 1   = 4.4

�7A��12��4�����47�������2/����A�� �7 7
47����1����7
2/	/. ������X��8�	�5����X 7
�
�	�� �.2A��� ����5���515����X 7

        �X��8�	���������X 7�
� 2   =  (204,25)
         5���515����X 7 (2��7
) ��X 7�
� 2  = 9

�7A��12��4�����47�������2/����A�� �7 7
47����1����7
2/	/. ������X��8�	�5����X 7
�
�	�� �.2A��� ����5���515����X 7

   1�2�� 3.4 42X�0���2@� ���X 75
�78�1
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